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PHILOSOPHY — HONOURS
Paper : CC-8
(Western Logic-I)
Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.

GRS ST 7T HE |
31 S TE3l @tE e (@ i) ¢ Ix30
(%) P TN 1 TG 2 JERAT =R (A (I 1003 I 7 TSR — <% 76 I5THF T4 7%
-l
(%) Reare Rzfae (=) Sy R
R S@+-Rere Rl &) @FEHEI
(R) @ fF307= R BE ‘@ @IET = s 20—
(%) Twe: @3 (=) - i 9
() <= () 93 Y @AIDS 73 |
() -FTHrE @ AT T 8 R Tog o7 S1me
(T) 7= APY 24 TS [P (B I A F0 9 FES TeE
() @I TP 79 FEG WOE &) @I @ A 2N ST /S |

(¥) ‘@I @A S 7 P* — 67 AR Fof 2o —
(T) 7F= 9-P T 9-S (T1) P CFI B-P 77 §-S
(2) QI @I F-S 27 P F) 93 TG @ADL 77 |
(¥) Femre o e S SaEite Ry oehm T @b oo e @y gy
(=) FERISON (%) FRESISON
(%) DIMARIS (%) CAMESTRES |
(5) Frsfafee sl frarrs T SR W w6l @ty g o ws
(%) EAE - 1 (=) AEE - 1
(Z) EIO - 3 () All -2

Please Turn Over




o

(xcseh Sm. )-Philosophy-H/CC-8/CBCS (2)

(®) S IR AT R T atspss 7a Segsiiea) o Aoy SeEare (s o 267 vz e
Re[® T @ o =, ot o —
(®) wifasw <foe oy
(=) SfewE o
(R) FLS WHTAIRY (AT LS Brare azerafie o
&) wwedE @ |

(%) "SRe =W I LA TR — < 7BICE s R S orfon evael Wb
() wferd rafe (@) sifza oafe
() FzeifReeq omfe (%) =93l oEfe |

() 33 T =G b — 3 AT W e 50 mores e —
(¥) I I B3 79 5 T () (T (AT EF 2 5F Ta
(2) 7 LT 2T 5T T ) I e 7 5T T |

(=) I SR e Trare sidiz
(%) SR 7y (=) SRR e
) '’ #) @R

() &b 2e@ v i Soima (% Rvpg 7sam © TR— @ $oei7 FEayel 97
(F) /v (=) sjov
@) /v &) - 3/3

21

@) I TR G T RGBT T el (O] Wi T 7 Heqfemrrtn i — «fs (IR 4AT
K e

(%) 22T «qeTE FKFF» (=) o =i e ww
(%) POR €@ e TR () <3 TG @AIDE 77 |
F<PEz Tea we (@-@Er A5G ) ¢

exe
(%) #T73 FIPE| FI0e | (QAH1 2 THLAR LR A1 A7 (R €8 (@, Swamemz @G |

(%) «=fb TAZRNFZ WY AF (FE 17 SR |

() 135037 FA(TER & 753 7 THrggeiz @7 |

(7) «=f5 qom o1 T TR T ¢ A% W TazzenE 1 T |
(%) pore/fdfEe #2rsq @1e a0m ¢ Suiaesiz AN S0 |

(5) TP ALTHFLA QB B0 |

(%) € caffel e Atz 7 farers q50a 90m U O vy 5



9|

81

Gl

vl

(3) @lh Sm.)-Philosophy-H/CC-8/CBCS

(&) s fAITer b [ I3 ¢
(W) (1 IYRL (TS, TINR BT 77 |
(B YT I AIEE WA 77|
@) 2 ) or ST |
®) i1 =IOl 37 419 oA |
(®) @Ie IRow oRET e [w |

- 7o &[T TeF 718 |
() ePrER AT (3Kl RoW 0 (- 7/8) ¢ €%
(%) 3fte T ST T 3372 (71 7 24, ©IF T ST | oK OF ST I 11 |

(B AT 372 T A Rt w110 ot ot 1 | g ! It R et sebie e
(T | 0T CPIT (PICAT AAPF P12 W |

() SFHETCIRN PIACAIR ! 27 1 | (47 FTR RIS Are 20 AT | o9k Roted a1 9 Tl
=7 4

(X) 38 BT HeI1% I @ (oot el el 2 NJRTUN
(®) 71 582 =i
(M) 71 ol T 3R 77 A AN SweiTeTS |

(3) AT Ry b Srrzepmz 10 I | 77 JeReiaia @2 TR 3 < ARRew T 932 @7
() Fet = 1ee 0 2 e el R 9% B R Wi A1 SrrmmerR T @ (ere)+e

Bl TR (- o) ¢ UREUN
(@) TR e *afe
() TR WA smfeslE T4 @i s

(5) &S &feq Are B3|

Cex M6 (F-cier foars ) ¢ @xo
() <= Ja1 fE7 57 T we GFR (T ATE I3} TR G917 (26 I GRS T2
() I D (AT FoTA OF Gertet oIl 2ot O 1 21NeTF AQAe! 6 2

() =6 OITa e (AT #4397 O Tetet oIRGBl 6o el TS (3) ¥ (ol i oA
COTA BILA AR AT @FFe (el 27, (1) G3R (Ol OF AT @FaS Meqt 7z 2

(=) 45 gfore wm e, w4t 9fbte @ .l SSE— SITE @9 8 Wedl & 26T HERTS! TS 2
Please Turn Over



[{(«h Sm.)-Philosophy-H/CC-8/CBCS) (4)

[ English Version ]
The figures in the margin indicate full marks.

1. Choose the correct option (any fen) : 1x10

(a) *Some square things are circular’ and ‘Some square things are not circular’- the relation between
these two propositions is :

(i) Contrary (i) Subalteration
(iif) Sub-contrary (iv) None of these.
(b) The word ‘some’ in a categorical particular proposition denotes
(1) at least one (i) atmost one
(iii) exactly one (iv) none of these.

(¢) In which of the following proposition both the subject and predicate terms remain undistributed?
(1) All members are college graduates (i) Some members are not college graduates
(i) No members are college graduates (iv) Some members are college graduates.

(d) The contraposition of ‘Some S is not P’ is

(1) All non-P is not non-S (i) Some non-P is not non-S
(iii) Some non-S is P (iv) None of these.
(e) Which valid mood of the following is a valid form in the 3rd figure of the standard form categorical
syllogism?
(i) FERISON (i) FRESISON
(iii) DIMARIS (ivy CAMESTRES.
(f) In which of the following syllogistic forms involve the fallacy of illicit major?
(i) EAE -1 (i) AEE-1
(i) EIO - 3 (iv) AIl-2

(2) According to modern logic the fallacy which is committed in a standard form categorical syllogism,
if a particular conclusion is drawn from two universal premises, is

(i) Fallacy of four terms
(ii) Existential fallacy
(iii) Fallacy of drawing an affirmative conclusion from a negative premise.
(iv) Fallacy of equivocation.
(h) “Heat is the cause of the expansion of an object’~ which inductive method of Mill has been applied
in this example?
(i) Method of Difference (i) Method of Residuces
(iii) Method of concomitant variation (iv) Method of Agreement.
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(i) ‘Few grapes are sour’— the transformation of this sentence into standard form categorical proposition
1S
(i) Some grapes are not sour fruits (i) Some grapes are sour fruits

(1) All grapes are sour fruits (iv) No grapes are sour fruits.

() The conclusion of an inductive argument is always
(1) necessarily true (i) necessarily false
(iii) probable (iv) none of these.

(k) What is the probability of rolling three dice so that the total number of points which appear on their
top-faces is 3?

(i) 1/6 (i) 1/36
(1) 1/216 Giv) 12
(1) No dishonest persons are responsible persons because no dishonest persons are wise persons. —
Which type of enthymeme is it?
(i) First order enthymeme (i) Second order enthymeme

(1ii) Third order enthymeme (iv) None of these.

~2. Answer the following questions briefly (any five) : 5%x5

(a) What do you understand by distribution of terms? Explain, with examples, which terms of categorical
propositions are distributed and why?

(b) Explain the fallacy of illicit minor with an example.
(c) Is contraposition of I proposition possible? Explain with examples.
(d) Explain with examples the necessary and sufficient condition for an event.

(e) What is a crucial experiment? Explain with examples.

(f) Discuss ‘Plurality of causes’ in brief.

() What is an empty class? What is its significance in Boolean interpretation of categorical propositions?

(h) Translate the following sentences into standard form categorical propositions :
(i) Whenever he wins, he celebrates
(ii) Few men are not selfish.
(iii) A thing of beauty is a joy forever.
(iv) All metals are solid except mercury.

(v) Only handful of Indian students are scientists.
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3.

Answer any two of the following questions.

(a) Test the validity of the following arguments by means of Venn diagrams (any two) : 5%2
(i) Although he complains whenever he is sick, his health is excellent. Therefore, he won’t
complain.
(i) No sane witness incriminate themselves. But some witnesses incriminate themselves. So some
witnesses are insane.
(iii) - Straight lines are never curved. Only straight lines can be the sides of a triangle. So the sides
of a triangle are never curved.
(b) Transform in Boolean terms and express in Venn diagrams : 242V
(i) Everything is momentary.
(i) All whales are mammals and all mammals are warm-blooded animals.
(a) Explain, with examples, the traditional square of opposition. Discuss what changes have been made

to this square by the modern logicians and why?
(b) What is mixed syllogism? Explain with examples the difference between mixed hypothetical and
mixed disjunctive syllogism. (5+5)+5
Write short notes on (any two) : TatTs
(a) Mill’s method of Difference
(b) Copi’s criticism of Mill’s inductive methods
(c) Seven steps of a scientific method.

.

Answer the following (any three) : 5x3
(a) What is the probability of getting at least one head and at most one head in three tosses of a coin?
(b) In drawing three cards from a deck of cards what is the probability of not getting three hearts?
(¢c) What is the probability of getting three aces in three successive draws from a deck of cards —
(i) if the cards drawn are replaced before next drawing, and
(ii) if the cards are not replaced?

(d) What is the probability of rolling two dice so that the total number of points which appear on their
top faces be either 4 or 67




